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1.

Grief is unpleasant. Would one not then be better off without it altogether? Why accept it even when the loss is real? 

Perhaps we should say of it what Spinoza said of regret: that whoever feels it is “twice unhappy or twice helpless.” Laurence 

Thomas has suggested that the utility of “negative sentiments”(emotions like grief, guilt, resentment, and anger, which there 

is seemingly a reason to believe we might be better off without) lies in their providing a kind of guarantee of authenticity for 

such dispositional sentiments as love and respect. No occurrent feelings of love and respect need to be present throughout 

the period in which it is true that one loves or respects. One might therefore sometimes suspect, in the absence of the 

positive occurrent feelings, that_______________. At such times, negative emotions like grief offer a kind of testimonial to the 

authenticity of love or respect. 

[3점] 

* dispositional: 성향적인 ** testimonial: 증거

① one no longer loves 

② one is much happier 

③ an emotional loss can never be real 

④ respect for oneself can be guaranteed 

⑤negative sentiments do not hold any longer
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2.

 Temporal resolution is particularly interesting in the context of satellite remote sensing. The temporal density of remotely 

sensed imagery is large, impressive, and growing. Satellites are collecting a great deal of imagery as you read this sentence. 

However, most applications in geography and environmental studies do not require extremely fine-grained temporal 

resolution. Meteorologists may require visible, infrared, and radar information at sub-hourly temporal resolution; urban 

planners might require imagery at monthly or annual resolution; and transportation planners may not need any time series 

information at all for some applications. 

Again, the temporal resolution of imagery used should       _______________. Sometimes researchers have to search archives of 

aerial photographs to get information from that past that pre-date the collection of satellite imagery. [3점] 

* meteorologist : 기상학자   ** infrared: 적외선의

① be selected for general purposes 

② meet the requirements of your inquiry 

③ be as high as possible for any occasion 

④ be applied to new technology by experts 

⑤ rely exclusively upon satellite information
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3. 

The creativity that children possess needs to be cultivated throughout their development. Research suggests that 

overstructuring the child’ environment may actually limit creative and academic development. This is a central problem with 

much of science instruction. The exercises or activities are devised to eliminate different options and to focus on 

predetermined results. The answers are structured to fit the course assessments, and the wonder of science is lost along with 

cognitive intrigue. We define cognitive intrigue as the wonder that stimulates and intrinsically motivates an individual to 

voluntarily engage in an activity. The loss of cognitive intrigue may be initiated by the sole use of play items with 

predetermined conclusions and reinforced by rote instruction in school. This is exemplified by toys, games, and lessons that 

are a(n)_______________in and of themselves and require little of the individual other than to master the planned objective. [3점] 

* rote : 기계적인암기

① end ② input ③ puzzle ④ interest ⑤ alternative
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4. 

Over a period of time the buildings which housed social, legal, religious, and other rituals evolved into forms that we 

subsequently have come _______________ . This is a two-way process; the building provides the physical environment and 

setting for a particular social ritual such as traveling by train or going to the theater, as well as the symbolic setting. The 

meaning of buildings evolves and becomes established by experience and we in turn read our experience into buildings. 

Buildings arouse an empathetic reaction in us through these projected experiences, and the strength of these reactions is 

determined by our culture, our beliefs, and our expectations. They tell stories, for their form and spatial organization give us 

hints about how they should be used. Their physical layout encourages some uses and inhibits others; we do not go 

backstage in a theater unless especially invited. Inside a law court the precise location of those involved in the legal process 

is an integral part of the design and an essential part of ensuring that the law is upheld. [3점] * empathetic : 공감할 수 있는

① to identify and relate to a new architectural trend 

② to recognize and associate with those    buildings’function 

③ to define and refine by reflecting cross-cultural interactions 

④ to use and change into an integral part of our environment 

⑤ to alter and develop for the elimination of their meanings
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5. 

Establishing protected areas with intact ecosystems is essential for species conservation. It is, however, shortsighted to rely 

solely on protected areas to preserve biodiversity. Such reliance can create a paradoxical situation in which species and 

ecosystems inside the protected areas are preserved while the same species and ecosystems outside are allowed to be 

damaged, which in turn results in ___________________. This is due in part to the fact that many species must migrate across 

protected area boundaries to access resources that the protected area itself cannot provide. In India, for example, tigers 

leave their protected areas to hunt in the surrounding human-dominated landscape. In general, the smaller the protected 

area, the more it depends on unprotected neighboring lands for the long-term maintenance of biodiversity. Unprotected 

areas, including those immediately outside protected areas, are thus crucial to an overall conservation strategy. [3점] 

① the decline of biodiversity within the protected areas 

② the fall in migration of species to the unprotected areas 

③ the increase of predators’ migration to the protected areas 

④ the balance and harmony between humanity and biodiversity 

⑤ the improvement in preserving human-dominated landscapes
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6. 

Our kitchens owe much to the brilliance of science, and a cook experimenting with mixtures at the stove is often not very 

different from a chemist in the lab: we add vinegar to red cabbage to fix the color and use baking soda to counteract the 

acidity of lemon in the cake. It is wrong to suppose, however, that ________________________. It is something more basic and 

older than this. Not every culture has had formal science―a form of organized knowledge about the universe that starts with 

Aristotle in the fourth century BC. The modern scientific method, in which experiments form part of a structured system of 

hypothesis, experimentation, and analysis is as recent as the seventeenth century; the problem-solving technology of cooking 

goes back thousands of years. Since the earliest Stone Age humans cut raw food with sharpened flints, we have always used 

invention to devise better ways to feed ourselves. [3점] 

① science has nothing to do with philosophy 

② a hypothesis can be proved by a single experiment 

③ technology is just the appliance of scientific thought 

④ cooking has always been independent from formal science 

⑤ food is cooked only through the problem-solving technology
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7. 

What story could be harsher than that of the Great Auk, the large black-and-white seabird that in northern oceans took the 

ecological place of a penguin? Its tale rises and falls like a Greek tragedy, with island populations savagely destroyed by 

humans until almost all were gone. Then the very last colony found safety on a special island, one protected from the 

destruction of humankind by vicious and unpredictable ocean currents. These waters presented no problem to perfectly 

adapted seagoing birds, but they prevented humans from making any kind of safe landing. After enjoying a few years of 

comparative safety, disaster of a different kind struck the Great Auk. Volcanic activity caused the island refuge to sink 

completely beneath the waves, and surviving individuals were forced to find shelter elsewhere. The new island home they 

chose _____________________ in one terrible way. Humans could access it with comparative ease, and they did! Within just a few 

years the last of this once-plentiful species was entirely eliminated. [3] *savagely: 잔혹하게 

① lacked the benefits of the old 

② denied other colonies easy access 

③ faced unexpected natural disasters 

④ caused conflicts among the refugees 

⑤ had a similar disadvantage to the last island
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8. 

It is not hard to see that a strong economy, where opportunities are plentiful and jobs go begging, ______________________. 

Biased employers may still dislike hiring members of one group or another, but when nobody else is available, discrimination 

most often gives way to the basic need to get the work done. The same goes for employees with prejudices about whom they 

do and do not like working alongside. In the American construction boom of the late 1990s, for example, even the carpenters’ 

union—long known as a “traditional bastion of white men, a world where a coveted union card was handed down from father 

to son”—began openly encouraging women, blacks, and Hispanics to join its internship program. At least in the workplace, 

jobs chasing people obviously does more to promote a fluid society than people chasing jobs. [3] *bastion: 요새 **coveted: 부러움

을 사는 

① allows employees to earn more income 

② helps break down social barriers 

③ simplifies the hiring process 

④ increases wage discrimination 

⑤ improves the productivity of a company
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9. 

One remarkable aspect of aboriginal culture is the concept of “totemism,” where the tribal member at birth assumes the soul 

and identity of a part of nature. This view of the earth and its riches as an intrinsic part of oneself clearly rules out 

mistreatment of the environment because this would only constitute a destruction of self. Totems are more than objects. They 

include spiritual rituals, oral histories, and the organization of ceremonial lodges where records of the past travel routes of 

the soul can be exchanged with others and converted to mythology. The primary motivation is the preservation of tribal 

myths and a consolidation and sharing of every individual’s origins in nature. 

The aborigines see____________________________, through a hierarchy of totems that connect to their ancestral origins, a 

cosmology that places them at one with the earth, and behavior patterns that respect ecological balance.[3] 

*aboriginal: 원주민의 **consolidation: 병합, 강화 

① themselves as incompatible with nature and her riches 

② their mythology as a primary motive toward individualism 

③ their identity as being self-contained from surrounding nature 

④ their relationship to the environment as a single harmonious continuum 

⑤ their communal rituals as a gateway to distancing themselves from their origins
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10. 

As essayist Nassim Taleb resolved to do something about the stubborn extra pounds he’d been carrying, he considered taking 

up various sports. However, joggers seemed skinny and unhappy, and tennis players? Oh, so upper­middle­class! Swimmers, 

though, appealed to him with their well­built, streamlined bodies. He decided to sign up at his local swimming pool. A short 

while later, he realized that he had been caught by an illusion. Professional swimmers don’t have perfect bodies because they 

train extensively. Rather, they are good swimmers because of their physiques. Similarly, female models advertise cosmetics 

and thus, many female consumers believe that these products make them beautiful. But it is not the cosmetics that make these 

women model­like. Quite simply, the models are born attractive, and only for this reason are they candidates for cosmetics 

advertising. As with the swimmers’ bodies, beauty is __________________________________. Taleb calls the confusions like the cases 

above the swimmer’s body illusion . [3점]  

① what triggers gender stereotypes  

② a quality with no absolute standard  

③ a factor for selection and not the result  

④ what helps people boost their self­esteem  

⑤ the product of constant care and investment
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11. 

Even if it is correct to say that we express and represent our thoughts in language, it may be a big mistake to suppose that 

there are structural similarities between what is doing the representing and what is represented. Robert Stalnaker, in his 

book Inquiry, suggests an analogy with the representation of numbers: The number 9 can be represented as ‘123’ but it does 

not follow that 12, 3, or subtraction are constituents of the number 9. We could compare a thought and its verbal expression 

with toothpaste and its ‘expression’ from a tube. That the result of expressing toothpaste is a long, thin, cylinder does not 

entail that toothpaste itself is long, thin, or cylindrical. Similarly, a thought might get expressed out loud in a statement with 

a particular linguistic structure. It does not follow that __________________________. Suppose, for example, that I look at a fruit 

bowl, and think that there is an apple and an orange in that bowl. The objects in front of my eyes include some pieces of 

fruit and a bowl, but no object corresponding to the word ‘and’ exists either in the world or in my visual image. *subtraction: 

**entail: () 

① the thought itself has such a structure 

② linguistic analysis of a thought is unlikely 

③ the language in mind lacks a logical structure 

④ a thought and its verbal expression are distinct 

⑤ the sentence structurally differs from the thought
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12. 

We tend not to notice how many creative tasks benefit from constraints because they are built　in and have become invisible. 

For example, almost all popular music is in 4/4 time, four beats in the bar, with the emphasis usually landing on the first 

beat. Tracks are normally three or four minutes in length, contain a chorus, and so on. These are just a few constraints of 

many that popular music follows, and yet look at the variation that can be achieved. Many songs break these rules, but they 

often achieve their effects because there is a rule to break in the first place. Painters, writers, artists, and so on are all 

influenced by previous styles to various degrees and it’s these previous styles that provide constraints. The very limitations 

we impose on ourselves can be_________________________________. [3점] 

① the inherent cultural beliefs 

② the resistance to taking risks 

③ the seeds of our finest creations 

④ the obstacles to our future success 

⑤ the stepping stone for music education
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13. 

While we like to think that our habits follow our intentions, it’s possible for intention and habit to be completely reversed. 

How the habit started in the first place could be a complete accident, but we can then work out our intentions from our 

behavior, as long as there’s no strong reason for that behavior. Say I take a walk around the park every afternoon and each 

time I follow a particular route which takes me past a duck pond. When asked why I take this route, I might reply that I like 

to watch people feeding the ducks. In reality, I just walked that way the first time, completely at random, and saw no reason 

not to do the same the next day. Now, after the habit is established, I try to come up with a reason and the ducks spring to 

mind. I end up_________________________________. [3점] 

① hiding the intention of my previous behavior 

② regretting my unconscious behavior in the past 

③ being confused about the reason why I started exercising 

④ inferring intention from what was essentially just chance 

⑤ getting out of my old habits and forming new ones instead
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14. 

Customers’ needs are usually expressed as high‒level descriptions of the overall quality of a product or service. They are 

typically stated as adjectives and inherently do not imply a specific benefit to the customer. For instance, customers 

commonly say they want a product or service to be “reliable,” “effective,” “robust,” “dependable,” or “resilient.” Razor users 

may want the product to be “durable and strong.” Although these simple statements provide some indication as to what 

customers are looking for, they have one major drawback. They are_______________________________________and present designers, 

developers, and engineers with the impossible task of figuring out just what customers really mean by “durable” or “strong.” 

If engineers faced the task of making a razor more “durable,” would they try to make the blade last longer, resist bending, 

or withstand constant moisture? Would any of these actions satisfy the customer’s true measure of “durable?” [3점]  

① not appealing to female customers  

② irrelevant to customers making purchases            

③ preferable feedback for manufacturers only  

④ ineffective in drawing consumers’ attention  

⑤ imprecise statements open to interpretation
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15. 

In a study of complimenting behavior in American English, researchers discovered that one of the most striking features of 

compliments in American English is ___________________________________. An initial examination of a large corpus revealed 

surprising repetitiveness in both the object of the compliments and the lexical items used to describe them. On closer 

investigation, it was discovered that regularities exist on all levels and that compliments are in fact formulas. We may 

categorize 80% of all compliments in the data as adjectival in that they depend on an adjective for their positive semantic 

value. In all, some seventy‒two positive adjectives occur in the data. What is striking, however, is that of these seventy‒two 

adjectives only five (nice, good, beautiful, pretty and great) are used with any frequency. While most adjectives occur only 

once or twice in the data, these five adjectives occur with such frequency that of all adjectival compliments in the corpus two 

thirds make use of only five adjectives. [3점] *corpus: 언어 자료 

 

① the foreign sounding qualities   

② frequently misused adjectives  

③ repetition of pitch patterns  

④ an inherent ambiguity in meaning  

⑤ the almost total lack of originality 
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16. 

It is easy to find examples of correlations which are far more systematic than could occur by chance and yet which it would 

be absurd to treat as evidence of a direct causal link. For instance, there is a high degree of correlation between shoe size 

and vocabulary size: people with larger shoe sizes tend to have much larger vocabularies than people with smaller shoe sizes. 

But having larger feet does not cause anyone to gain a larger vocabulary; nor does having a large vocabulary cause your 

feet to grow. The obvious explanation of the correlation is that children tend to have much smaller feet than adults, and, 

because children acquire their vocabularies gradually as they grow older, it is hardly surprising that, on average, people 

with smaller feet have smaller vocabularies. In other words, foot size and vocabulary size can be explained in terms of 

_______________________________from infancy to adulthood: a cause which both observed phenomena have in common. [3점] 

① by-products of language acquisition 

② causal links between uncommon events 

③ contrasts between physical and mental growth 

④ cultural beliefs derived from social interactions 

⑤ features of the process of human development
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17. 

When two cultures come into contact, they do not exchange every cultural item. If that were the case, there would be no 

cultural differences in the world today. Instead, only a small number of cultural elements ever spread from one culture to 

another. Which cultural item is accepted depends largely on the item’s use and compatibility with already existing cultural 

traits. For example, it is not likely that men’s hair dyes designed to “get out the gray” will spread into parts of rural Africa 

where a person’s status is elevated with advancing years. Even when a(n) _______________________________________ is consistent 

with a society’s needs, there is still no guarantee that it will be accepted. For example, most people in the United States using 

US customary units (e.g., inch, foot, yard, mile, etc.) have resisted adopting the metric system even though making such a 

change would enable US citizens to interface with the rest of the world more efficiently. [3] *metric system: 미터법 

① categorization ② innovation ③ investigation ④ observation ⑤ specification
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18. 

Some distinctions between good and bad are hardwired into our biology. Infants enter the world ready to respond to pain as 

bad and to sweet (up to a point) as good. In many situations, however, the boundary between good and bad is a reference 

point that changes over time and depends on the immediate circumstances. Imagine that you are out in the country on a cold 

night, inadequately dressed for the pouring rain, your clothes soaked. A stinging cold wind completes your misery. As you 

wander around, you find a large rock that provides some shelter from the fury of the elements. The biologist Michel Cabanac 

would call the experience of that moment intensely pleasurable because it functions, as pleasure normally does, to indicate 

the direction of________________________. The pleasant relief will not last very long, of course, and you will soon be shivering 

behind the rock again, driven by your renewed suffering to seek better shelter. [3] *shiver: 떨다 

① a permanent emotional adjustment to circumstantial demands 

② enhancing self-consciousness through physical suffering 

③ a biologically significant improvement of circumstances 

④ judging desirable and undesirable conditions impartially 

⑤ a mentally pre-determined inclination for emotional stability
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19. 

Research and development for seed improvement has long been a public domain and government activity for the common 

good. However, private capital started to flow into seed production and took it over as a sector of the economy, creating an 

artificial split between the two aspects of the seed’s nature: its role as means of production and its role as product. This 

process gained pace after the invention of hybrid breeding of maize in the late 1920s. Today most maize seed cultivated are 

hybrids. The companies that sell them are able to keep the distinct parent lines from farmers, and the grain that they 

produce is not suited for seed saving and replanting. The combination guarantees that farmers will have to                      

_________________________________________. In the 1990s the extension of patent laws as the only intellectual property rights tool 

into the area of seed varieties started to create a growing market for private seed companies. [3] *maize: 옥수수 

① buy more seed from the company each season 

② use more chemical fertilizer than before 

③ pioneer markets for their food products 

④ increase the efficiency of food production 

⑤ search for ways to maintain rural communities
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20. 

Long before Walt Whitman wrote Leaves of Grass, poets had addressed themselves to fame. Horace, Petrarch, Shakespeare, 

Milton, and Keats all hoped that poetic greatness would grant them a kind of earthly immortality. Whitman held a similar 

faith that for centuries the world would value his poems. But to this ancient desire to live forever on the page, he added a 

new sense of fame. Readers would not simply attend to the poet’s work; they would be attracted to the greatness of his 

personality. They would see in his poems a vibrant cultural performance, an individual springing from the book with 

tremendous charisma and appeal. Out of the political rallies and electoral parades that marked Jacksonian America, Whitman 

defined poetic fame in relation to the crowd. Other poets might look for their inspiration from the goddess of poetry. 

Whitman’s poet sought________________________________. In the instability of American democracy, fame would be dependent on 

celebrity, on the degree to which the people rejoiced in the poet and his work. [3] *rally: 집회 

① a refuge from public attention 

② poetic purity out of political chaos 

③ immortality in literature itself 

④ the approval of his contemporaries 

⑤ fame with political celebrities
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21. 

Think of how you developed your style of using the brakes on your car. As you were mastering the skill of taking curves, 

you gradually learned when to let go of the accelerator and when and how hard to use the brakes. Curves differ, and the 

variability you experienced while learning ensures that you are now ready to brake at the right time and strength for any 

curve you encounter. The conditions for learning this skill are ideal, because you receive immediate and unambiguous 

feedback every time you go around a bend: the mild reward of a comfortable turn or the mild punishment of some difficulty 

in handling the car if you brake either too hard or not quite hard enough. The situations that face a harbor pilot 

maneuvering large ships are no less regular, but skill is much more difficult to acquire by sheer experience because of the 

long delay between actions and their noticeable outcomes. Whether professionals have a chance to develop intuitive expertise 

depends essentially on_____________________________________, as well as on sufficient opportunity to practice. [3점] 

① the ability to control emotions 

② the assistance from instructors 

③ the discovery of hidden talents 

④ the desire to beat the opponents 

⑤ the quality and speed of feedback
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22. 

The saying that ____________________ is captured in a study in which researchers wrote up a detailed description of a half 

inning of baseball and gave it to a group of baseball fanatics and a group of less enthusiastic fans to read. Afterward they 

tested how well their subjects could recall the half inning. The baseball fanatics structured their recollections around 

important game-related events, like runners advancing and runs scored. One almost got the impression they were reading off 

an internal scorecard. The less enthusiastic fans remembered fewer important facts about the game and were more likely to 

recount superficial details like the weather. Because they lacked a detailed internal representation of the game, they couldn’t 

process the information they were taking in. They didn’t know what was important and what was trivial. They couldn’t know 

what mattered. Without a conceptual framework in which to embed what they were learning, they were extremely forgetful. [3

점]

① it takes knowledge to gain knowledge 

② intelligence is much more than mere memory 

③ imagination pushes the boundaries of knowledge 

④ learning takes place everywhere and at all times 

⑤ prejudice is an obstacle to processing information 
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23. 

I would like to compare the shift from analog to digital film-making to the shift from fresco and tempera to oil painting in 

the early Renaissance. A painter making a fresco has limited time before the paint dries, and once it has dried, no further 

changes to the image are possible. Similarly, a traditional filmmaker has limited means of modifying images once they are 

recorded on film. Medieval tempera painting can be compared to the practice of special effects during the analog period of 

cinema. A painter working with tempera could modify and rework the image, but the process was painstaking and slow. The 

switch to oils greatly liberated painters by allowing them to quickly create much larger compositions as well as to modify 

them as long as necessary. Similarly,_________________________________________, digital technology redefines what can be done with 

cinema. [3점] 

① by equating oil painting with analog film-making 

② by allowing a filmmaker to treat a film image as an oil painting 

③ with the shift from oil painting styles to fresco ones in making films 

④ by integrating fresco painting techniques into the film-making process 

⑤ with the introduction of tempera painting methods to cinematic special effects
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24.  

In a penalty situation in soccer, the ball takes less than 0.3 seconds to travel from the player who kicks the ball to the goal. 

There is not enough time for the goalkeeper to watch the ball’s trajectory. He must make a decision before the ball is kicked. 

Soccer players who take penalty kicks shoot one third of the time at the middle of the goal, one third of the time at the left, 

and one third of the time at the right. Surely goalkeepers have spotted this, but what do they do? They dive either to the left 

or to the right. Rarely do they stay standing in the middle― even though roughly a third of all balls land there. Why would 

they jeopardize saving these penalties? The simple answer:________________________________. It looks more impressive and feels 

less embarrassing to dive to the wrong side than to freeze on the spot and watch the ball sail past. [3점]    

① agility ② appearance ③ indecision   ④ accuracy ⑤ impatience
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25. 

In the mid-1900s, John Kenneth Galbraith shocked the field of economics when he insisted that consumers do not merely 

participate in the marketplace, they are also the product of the systematic deployment of power throughout society. Within 

this deployment of power, commercial media ensures that consumers adopt values and beliefs that match the general 

requirements of the economy. The individual’s participation in mass behavior patterns is                                   . 

Consumers engage in shared patterns of consumption because they live within an economic system that operates as a belief 

system. It exercises considerable control over the meaning and value of things. When the economy functions as a belief 

system, it establishes severe limits on a consumer’s free choice. As consumers, our choices are not entirely our own. Our 

beliefs, values, thoughts, and emotions are highly conditioned to match the needs of the marketplace. [3] *deployment: 배치 

① not driven by commercial media’s agenda 

② a product of unconditioned personal choice 

③ not a spontaneous reaction to random forces 

④ not affected by the needs of the marketplace 

⑤ an outcome irrelevant to the economic system
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26.

Subjective well­being is at least partly temporary in response to the consumption of new and novel consumer goods. Pleasure 

has a stable component dependent on the accustomed consumption flows, but it also has a component that is dependent on 

change. Once the change occurs and the new consumer item becomes a part of the daily consumption bundle, the pleasure of 

novelty disappears and overall satisfaction returns to the original amount. A new kind of cereal at breakfast will temporarily 

add to our pleasure, but eventually our enjoyment of breakfast will return to its normal level. Also, as our incomes and 

material standards rise, so do our expected achievements. The purchase of a second automobile made possible by rising 

income increases our subjective well­being, but at the same time our aspirations rise and a second car becomes a part of our 

consumption expectations.                               returns our subjective well­being to its normal amount. [3점] 

①The realization that our income is losing its buying power 

②Feeling increasing gap between our income and aspirations 

③Development in technology resulting from repeated use of new products 

④The ever­decreasing income due to the global economic crisis 

⑤The shrinkage in the gap between our expectations and realizations
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27.

My friend was disappointed that scientific progress has not cured the world’s ills by abolishing wars and starvation; that 

gross human inequality is still widespread; that happiness is not universal. My friend made a common mistake―a basic 

misunderstanding in the nature of knowledge. Knowledge is amoral ―not immoral but morality neutral. It can be used for any 

purpose, but many people assume it will be used to further their favorite hopes for society―and this is the fundamental flaw. 

Knowledge of the world is one thing; its uses create a separate issue. To be disappointed that our progress in understanding 

has not remedied the social ills of the world is a legitimate view, but______________________________________. To argue that 

knowledge is not progressing because of the African or Middle Eastern conflicts misses the point. There is nothing inherent 

in knowledge that dictates any specific social or moral application. [3] 

① to confuse this with the progress of knowledge is absurd 

② to know the nature of knowledge is to practice its moral value 

③ to remove social inequality is the inherent purpose of knowledge 

④ to accumulate knowledge is to enhance its social application 

⑤ to make science progress is to make it cure social ills



달달한코스 유형별 독해                                                                                                                              With Candy       

- 29 -

2015년 수능 33번 정답률 (55%)

28. 

According to a renowned French scholar, the growth in the size and complexity of human populations was the driving force 

in the evolution of science. Early, small communities had to concentrate all their physical and mental effort on survival; their 

thoughts were focused on food and religion. As communities became larger, some people had time to reflect and debate. They 

found that they could understand and predict events better if they reduced passion and prejudice, replacing these with 

observation and inference. But while a large population may have been necessary, in itself it was not sufficient for science to 

germinate. Some empires were big, but the rigid social control required to hold an empire together was not beneficial to 

science, just as it was not beneficial to reason. The early nurturing and later flowering of science                                 

                                                         to support original thought and freewheeling incentive. The rise in 

commerce and the decline of authoritarian religion allowed science to follow reason in seventeenth-century Europe. [3] 

*germinate: 싹트다, 발아하다 

① prompted small communities to adopt harsh social norms 

② resulted from passion and enthusiasm rather than inference 

③ occurred in large communities with strict hierarchical structures 

④ required a large and loosely structured, competitive community 

⑤ were solely attributed to efforts of survival in a small community
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29. 

Rejecting a new idea is a normal reaction. Unfortunately, by doing so, you not only close off that avenue for exploration, but 

also step on the other person’s ego. Nobody enjoys having their ideas squashed, so this person is likely to react defensively. 

You risk getting into a sort of ‘idea-killing’ argument. To stop this from happening, you need to take a deep breath and       

                               . If someone offers an idea to which you feel hostile, build on it by deliberately looking for three 

good things that you can say about it, before you allow yourself to say anything negative. If your  supporting comments 

outweigh the critical ones, the other person will feel reassured that you’re considering their idea and is likely to be more 

receptive to what you say. 

① keep changing your pace 

② satisfy the group’s needs 

③ discover your weakest points 

④ look on the positive side 

⑤ make up your future plans



달달한코스 유형별 독해                                                                                                                              With Candy       

- 31 -

2014년 예비수능 B형 31번 정답률 (50%)

30. A good place for business leaders to start the process of building trust is by becoming more            to their employees. 

Getting out of the office and mixing with employees is a simple solution to a very common trust problem. In organizational 

improvement workshops, we often ask, “What is the single greatest barrier to improving communication and trust between you 

and your manager?” In many cases, the first response is, “I never see her. She’s always in a meeting.” The employees cannot 

develop a perception of trust with higher-ups when some don’t even know what they look like. If leaders seldom come out of 

the office, choosing to communicate through email instead, they are no longer a part of that organization.

 ① similar ② visible ③ frank ④ grateful ⑤ subjective

1. [출제의도] 빈칸 추론 [정답 ①] [해석] 은 불유쾌하다. 그렇다면 그것이 완전히 없는 상태라면 더 행복하지 않을까? 손 해를 보는 것이 확실한데도 왜 그것을 받아들

이는가? 아마도 우리는 스피노자가 후회 에 대해 이야기한 말, 즉 누구든지 그것을 느끼는 자는 ‘두 배 불행하거나 두 배 무 기력하다’는 말을 그것에 대해 이야기해야 할 

것이다. Laurence Thomas는 ‘부정적 인 감정’(없으면 우리가 더 행복할 것이라고 믿을 이유가 있어 보이는 감정들인 , 죄책감, 분개함, 분노와 같은 감정들)의 유용

성이 그것들이 사랑과 존경심과 같은 그 런 성향적인 감정에 대한 일종의 진실성을 보장해 준다는 점에서 찾을 수 있다는 것 을 암시했다. 그 어떤 현재 일어나고 있는 

사랑과 존경의 감정도 사랑하거나 존경하 는 것이 사실인 그 기간 동안 줄곧 존재할 필요는 없다(존재할 수는 없다). 그러므로 때때로 현재 일어나고 있는 긍정적인 감정

이 없는 상태에서 더 이상 사랑하지 않는다 고 의심을 하게 될 것이다. 그러한 때에, 과 같은 부정적인 감정이 사랑과 존경 심의 진실성에 대한 일종의 증거를 제공한다. 

[풀이] 사랑과 존경과 같은 긍정적인 감정의 진실성을 확인해 주는 데서 , 죄책감, 분개 함, 분노와 같은 부정적인 감정의 유용성을 찾을 수 있다는 내용의 글이므로 빈칸

에 들어갈 말로 ①이 가장 적절하다. ②  더 행복하다고 ③ 감정적 손실은 결코 실제일 수 없다고 ④ 자신에 대한 존경이 보장될 수 있다고 ⑤ 부정적인 감정이 더 이상 

유지되지 않는다고 [Words and Phrases] grief   better off 더 행복한, 형편이 더 나은  sentiment 감정, 정서  resentment 분개함  guarantee 보장  
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authenticity 진실성, 진짜임  occurrent 현 재 일어나고 있는, 우연의

2. [출제의도] 빈칸 추론 [정답②] [해석] 시간적 해상도는 위성의 원격 감지의 맥락에서 특히 흥미롭다. 원격으로 감지된 사진 의 시간적인 도는 크고, 인상적이고, 성장

하고 있다. 여러분이 이 문장을 읽을 때에 도 위성들은 많은 양의 사진을 모으고 있다. 그렇지만, 지리학과 환경 과학 분야에서 의 대부분의 응용 프로그램들은 극단적으

로 결이 고운 시간적 해상도를 필요로 하지 않는다. 기상학자들은 눈에 보이는, 적외선, 레이더 정보를 한 시간 이내의 주기로 찍 은 시간적 해상도로 필요로 할 것이다. 

그리고 도시 계획자들은 한 달에 한 번 혹은 일 년에 한 번씩 찍는 해상도의 사진을 필요로 할 것이다. 그리고 교통 계획자들은 어떤 응용 프로그램을 위해서는 어떤 시

간적 시차를 두는 일련의 정보를 전혀 필요로 하지 않을 수도 있다. 거기에다가, 사용되는 사진의 시간적 해상도는 여러분이 탐구하 는 것의 필요를 충족시켜야 한다. 때

로 연구자들은 수집된 위성사진들보다 앞서는 과 거의 정보를 얻기 위해서 항공사진의 기록 보관소를 뒤져야만 한다. [풀이] 연구나 작업의 성격에 따라서 필요한 시간적 

주기의 위성사진 자료가 다르며 연구 목 적에 따라 과거에 찍은 항공사진이 필요한 경우도 있다는 내용이므로 ②가 빈칸에 들 어갈 말로 가장 적절하다.

① 일반적인 목적을 위해 선택되어야 ③ 어떤 경우든 가능한 한 높아야 ④ 전문가에 의해 신기술에 적용되어야 ⑤ 오직 위성의 정보에만 의존해야 [Words and 

Phrases] temporal 시간의  resolution 해상도  density 도  imagery 사진, 화상  application 응용 프로그램  fine-grained 결이 고운  pre-date 

(시기가) 앞서다

3. [출제의도] 빈칸 추론 [정답①] [해석] 아이들이 지닌 창의력은 그들의 성장 기간 내내 육성되어야 할 필요가 있다. 연구는 아이의 환경을 지나치게 구조화하는 것이 

실제로 창의적 발달과 학문적 발달을 제한 할지도 모른다는 것을 보여 준다. 이것은 과학 교육의 많은 부분에서 가장 중요한 문 제이다. 연습이나 활동들은 다양한 선택권

을 없애고 미리 정해진 결과에 집중하도록 만들어진다. 정답은 수업의 평가에 부합하도록 구조화되고 과학에 대한 경이감은 인 지적 호기심과 더불어 상실된다. 우리는 인

지적 호기심을 한 개인이 어떤 활동에 자 발적으로 참여하도록 자극하고 내재적으로 동기를 부여하는 경이감으로 정의한다. 인지적 호기심의 상실은 미리 정해진 결론을 

가지고 놀감을 한 가지 방식으로 사용함 으로써 시작되고 학교에서의 암기식 교육을 통해 강화되는지도 모른다. 이것은 그 자 체로 목적이 되어, 계획된 목표를 숙달하는 

것 이외에 개인에게 거의 아무것도 요구 하지 않는 장난감, 게임, 그리고 수업에서 전형적인 사례를 보여 준다. [풀이] 미리 정해진 결론을 가지고 놀감을 한 가지 방식으
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로 사용함으로써 인지적 호기심 의 상실이 시작되고 암기식 교육을 통해 그러한 호기심의 상실이 강화되는지도 모른 다는 내용이 앞에 있고, 빈칸이 있는 문장에서는 계획

된 목표를 숙달하는 것 이외에 개인에게 아무것도 요구하지 않는 장난감, 게임, 그리고 수업을 그 전형적인 예로 들 고 있으므로, 즉 장난감, 게임, 수업 그 자체가 목적

이 되고 있음을 비판하는 글이므 로, 빈칸에 들어갈 말로 ① ‘목적’이 가장 적절하다. ② 투입　　③ 퍼즐　　④ 흥거리　　⑤ 대안 [Words and Phrases] 

cultivate 육성하다, 기르다  overstructure 지나치게 구조화하다  academic 학문적 인  instruction 교육  devise 만들다, 고안하다  eliminate 제거하다  

option 선택  assessment 평가  cognitive 인지적인  intrigue 호기심, 흥미로움  stimulate 자극 하다  intrinsically 내재적으로  voluntarily 자발적

으로  initiate 시작하다  reinforce 강화하다  exemplify ~의 전형적인 사례가 되다, 예증[예시]하다  in and of itself 그 자체로, 본질적으로  other 

than ~ 외에 

4. [출제의도] 빈칸 추론 [정답②][해석]

일정한 시간을 거쳐 오면서 사회적인, 법적인, 종교적인, 그리고 다른 의식들을 위한 장소를 제공한 건물들은 우리가 나중에 인식하고 그러한 건물들의 기능과 결부시키게 

된 형태로 발전해왔다. 이것은 양방향의 과정이다. 건물은 상징적인 장소뿐만 아니라 기차 여행을 한다거나 극장에 가는 것과 같은 특별한 사회적 의식을 위한 물리적인 

환경과 장소를 제공한다. 건물의 의미는 경험에 의해서 발전하고 확립되며 그런 다음 에 우리는 우리의 경험의 의미를 건물에 불어넣는다. 건물은 이러한 투사된 경험을 

통해서 우리 마음속에 공감할 수 있는 반응을 불러일으키며, 이러한 반응의 강도는 우리의 문화, 믿음, 기대에 의해 결정된다. 그것들은 이야기를 들려준다. 왜냐하면 그 

것들의 형태와 공간 구성이 그것들이 어떻게 사용되어야 하는지에 대한 힌트를 우리 에게 주기 때문이다. 그것들의 물리적 배치는 어떤 사용을 권장하고 다른 사용을 억 

제한다. 우리는 특별히 초대받지 않는다면 극장의 무대 뒤로 가지 않는다. 법정 안에 서 법적 절차 과정에서 관련된 사람들의 정확한 위치는 설계의 필수적인 부분이며 법 

이 유지되는 것을 확실히 하는 꼭 필요한 부분이다. [풀이] 사람은 경험을 통해 어떤 건물의 기능을 인식하고 그 건물에 어떤 의미를 결부시키게 된다는 내용의 글이므로 

②가 빈칸에 들어갈 말로 가장 적절하다. ① 확인하여 새로운 건축학의 동향과 관련짓게 ③ 문화 간의 상호작용을 반영함으로써 규정하고 세련시키게 ④ 사용하여 우리 환

경의 필수적인 부분으로 변화시키게 ⑤ 그것들의 의미를 없애기 위해서 변형시키고 발전시키게 [Words and Phrases] house ~에 장소를 제공하다  ritual 의식  
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evolve 발전하다, 진화하다  spatial 공간 의  layout 배치, 레이아웃  inhibit 억제하다  integral 필수적인  uphold 유지하다

5.[출제의도]빈칸 내용 추론하기 [정답①] [해석]온전한 생태계가 있는 보호구역을 만드는 것 은 종 보존에 필수적이다. 그러나 생물 다양성을 보 존하기 위해서 오직 보

호구역에만 의존하는 것은 근 시안적이다. 그러한 의존은 보호구역 내의 종과 생태 계는 보존되는 반면에 바깥에 있는 같은 종과 생태 계는 손상되도록 허용되는 역설적인 

상황을 만들어 낼 수 있는데, 이는 다시 보호구역 내의 생물 다양성 의 쇠퇴라는 결과를 가져온다. 부분적으로 이것은 많 은 종이 보호구역 자체가 제공할 수 없는 자원에 

접 근하기 위해 보호구역의 경계를 넘어서 이동해야 한 다는 사실에 기인한다. 예를 들어, 인도에서 호랑이 는 주변의 인간이 지배하는 지역에서 사냥하기 위해 자신들의 

보호구역을 떠난다. 일반적으로 보호구역이 작으면 작을수록 그것은 생물 다양성의 장기적인 유 지를 위해 보호되지 않는 인근 지역에 더욱 의존하 게 된다. 그러므로 보

호구역 바로 바깥에 있는 지역 들을 포함하여 비보호구역들은 전반적인 보존 전략 에 있어 매우 중요하다. [어구]intact 온전한, 손상되지 않은 [해설]생물 다양성을 보

존하기 위해서 오직 보호구 역에만 의지하는 것은 근시안적이라는 내용을 통해 빈칸의 내용을 추론할 수 있다. 

6. [출제의도]빈칸 내용 추론하기 [정답③]

[해석]우리의 부엌은 과학의 훌륭함의 덕을 많이 보고 있고, 스토브에서 혼합 재료로 실험하는 요리사 는 흔히 실험실에 있는 화학자와 크게 다르지 않다. 우리는 색을 유

지하기 위해 적양배추에 식초를 첨가 하고 케이크에 있는 레몬의 산성을 중화하기 위해 베이킹 소다를 사용한다. 그러나 기술이 단지 과학적 사고를 적용한 것이라고 생각

하는 것은 잘못이다. 그 것(기술)은 이것(과학적 사고)보다 더 기초적이고 더 오래된 무언가이다. 모든 문화가 기원전 4세기에 Aristotle에게서 시작된 우주에 관한 체

계화된 지식 의 형태인 형식과학을 가지고 있지는 않았다. 실험이 가설, 실험법, 그리고 분석의 구조화된 체계의 일부 를 형성하는 현대 과학 방식은 17세기에 이르러서인 

근래의 것이다. 요리의 문제 해결 기술은 수천 년 전 으로 거슬러 간다. 최초 석기 시대 인간이 날카롭게 만든 부싯돌로 날 음식물을 잘랐던 이래로, 우리는 항상 우리 자

신을 먹여 살리는 더 나은 방법을 고안 하기 위해 발명을 사용해왔다. [어구]counteract 중화하다, 대응하다 [해설]요리에 관한 문제 해결 기술이 과학적 사고 보다 더 

기본적이고 더 오래되었다는 내용을 통해 빈칸의 내용을 추론할 수 있다.
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7. [출제의도] 빈칸 추론 [정답①] [해석] 어떤 이야기가 북쪽 대양에서 생태상 의 위치를 차지했던 백의 대형 바새인 큰바다오리의 이야기보다 더 가혹할 수 있을까? 그 

새의 이야기는 한 편의 그리스 비극처럼 성하고 하는데, 의 개체군은 거의 모두가 사라질 때까지 인간에 의 해 혹하게 죽임을 당했다. 그러고 나서 진짜 마지막 집단이 한 

특별한 , 사납고 예측할 수 없는 해류에 의해 인간의 파로부터 보호를 받았던 한 에서 안전을 찾 아냈다. 이런 바다는 완벽하게 적응하여 바다 여행에 알맞은 새에게는 아

무 문제도 일으키지 않았지만, 사람들에게는 어떤 종류의 안전한 상륙도 하지 못하게 했다. 몇 년을 비교적 안전하게 지낸 뒤에 다른 종류의 재난이 큰바다오리에게 타격

을 주었 다. 화산 활동은 그 의 피난처가 완전히 바속에 가라게 했고 살아남은 개체들 은 하는 수 없이 다른 곳으로 피난해야 했다. 그것들이 선택한 새로운  서식지에는 

하나의 찍한 측면에서 것의 이점들이 없었다. 인간들이 비교적 쉽게 그것(그  서식지)에 접근할 수 있었고, 인간들은 실제로 그렇게 했다! 단지 몇 년 이내에 이 한 때 많

았던 종의 마지막 개체가 완전히 제거되었다. [풀이] 큰바다오리의 마지막 집단이 머물렀던 은 인간이 안전하게 상륙할 수 없는 장소 였지만, 그  전체가 바속에 가라음으

로써 이들은 어 수 없이 다른 으로 피 신하게 된다. 그런데 그 새로운 은 인간이 쉽게 접근할 수 있어서 인간이 큰바다 오리를 완전히 제거해 버렸으므로 빈칸에 들어갈 

말로 가장 적절한 것은 ① ‘것의 이점들이 없었다’이다. 

② 다른 집단들에게 쉬운 접근을 허용하지 않았다 ③ 예기치 못한 자연 재해에 직면했다 ④ 피난 개체들 사이에 갈등을 유발했다 ⑤ 마지막 과 비슷한 단점이 있었다 

[Words and Phrases] ecological 생태상의, 생태학의  tragedy 비극, 참사  population 개체군, 전체 주 민, 인구  destroy 죽이다, 박멸하다, 파하다  

colony 집단, 군체, 식민지 주민, 식 민지  vicious 사나운, 악한, 사악한  current 해류, 기류, 전류, 흐름  present (어려움 등을) 일으키다, 발표하다, 주다  

adapt 적응시키다  seagoing 바다 여행에 알맞은, 항해에 알맞은  landing 상륙, 착륙  disaster 재난, 천재지변  volcanic 화 산의, 화산 작용에 의한  

refuge 피난처, 피난  comparative 비교적인, 상대적인  eliminate 제거하다, 없애다

8. [출제의도] 빈칸 추론 [정답②][해석] 기회가 풍부하고 일자리를 원하는 사람이 없는 한 경제는 사회적 장애물을 파 하는 데 도움이 된다는 것을 이해하기란 어렵지 

않다. 편향된 고용주들은 어떤 한 집 단이나 아니면 다른 어떤 한 집단의 구성원을 고용하기를 여전히 어할 수도 있지 만, 그밖에 다른 누구도 구할 수 없을 때는 차별은 

아주 흔히 일을 완수해야 하는 기 본적인 필요성에 자리를 양보한다. 그것은 자신들이 정말 함께 일하고 싶어 하고 함 께 일하기 어하는, 편견을 가진 피고용자들에게 있
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어서도 똑같다. 예를 들면 1990 년대 후반 미국의 건설 호황기에 ‘부러움을 사는 노조 회원 카드를 아버지에게서 아 들에게로 물려주던 세계였던 백인들의 전통적 요새’

로 오동안 알려져 온 목수 노조 조차도 여성과 인 그리고 히스패닉에게 자기네 인턴 프로그램에 들어오라고 공개적 으로 권장하기 시작했다. 최소한 직장에서는 일자리가 

사람을 쫓아다니는 것이 사람 이 일자리를 쫓아다니는 것보다 유동적 사회 조성에 분명히 더 많은 기여를 한다. [풀이] 직원으로 쓸 사람이 없을 정도로 경제가 호황일 때

는 백인들만의 요새로 불리던 직업 집단에서조차도 여성, 인, 히스패닉에게까지 함께 일하자고 권장하는 사례가 이어지 고 있으므로 빈칸에 들어갈 말로 가장 적절한 것은 

② ‘사회적 장애물을 파하는 데 도움이 된다’이다. ① 피고용인들이 더 많은 소득을 얻게 해 준다 ③ 고용 과정을 단순화한다 ④ 급여 차별을 증가시킨다 ⑤ 회사의 생산

성을 향상한다 [Words and Phrases] plentiful 풍부한  go begging 원하는 사람이 없다 (가져가 달라고 구걸을 해야 할 형편이라는 뜻)  biased 편향된  

discrimination 차별  give way to ~에 자리를 양 보하다, ~에 굴복하다  prejudice 편견  alongside ~와 함께  construction 건설  boom 호황기  

hand down ~을 물려주다  at least 최소한  chase 쫓아다니다, 추 적하다 

9. [출제의도] 빈칸 추론 [정답④] [해석] 원주민 문화의 한 가지 두드러진 측면은 부족의 구성원이 태어날 때 자연의 일부의 영혼과 정체성을 취한다는 ‘토테미’의 개념이

다. 지구와 지구의 풍요를 자신의 고유 한 일부로 보는 이 견해는 환경을 학대하는 것을 분명히 배제하는데, 이것은 자신을 파하는 것이 될 뿐이기 때문이다. 토은 물체 

그 이상의 것이다. 그것들은 영적 제사, 구전 역사, 그리고 영혼의 과거 여행길 기록들이 다른 사람들과 교환될 수 있 고 신화로 전환될 수 있는 의식용 오두막집의 조직

을 포함한다. 그 주된 동기는 부족 의 신화를 보존하고 모든 개인의 기원을 자연 속에서 병합하고 공유하는 것이다. 원 주민들은 자신들의 조상대대의 기원과 연결된 토들

의 위계, 자신들을 지구와 하나 되게 놓아주는 우주론, 그리고 생태적 균형을 존중하는 행동 패턴을 통해 환경과 자 신과의 관계를 하나의 조화로운 연속체로 간주한다. 

[풀이] 토테미을 통해 원주민들은 지구와 지구의 풍요를 자신의 고유한 일부로 간주한다고 했으므로 빈칸에 들어갈 말로 가장 적절한 것은 ④ ‘환경과 자신과의 관계를 하

나의 조화로운 연속체로’이다. ① 자신들이 자연과 자연의 풍요와 양립하지 않는다고 ② 자신들의 신화를 개인주의를 향한 주요한 동기로 ③ 자신들의 정체성을 주변의 자

연과 독립된 것으로 ⑤ 자신들의 공동 의식을 자신들을 자신들의 기원으로부터 멀리 떨어뜨리는 관문으로 [Words and Phrases] remarkable 두드러진  aspect 

측면, 양상  tribal 부족의  at birth 태어날 때  assume 취하다, 띠다  soul 영혼  identity 정체성, 신원  riches 풍요, 부  intrinsic 고유한  rule out 

~을 배제하다  mistreatment 학대  constitute ~이 되 다, ~을 구성하다  destruction 파  object 물체, 물건  ritual 의식, 제사  ceremonial 의식
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(용)의  lodge 오두막  convert 전환하다, 바꾸다  mythology 신화  myth 신화  hierarchy 위계, 계급 제도  ancestral 조상(대대)의  cosmology 우주 

론  ecological 생태적인  incompatible 양립하지 않는  self-contained 자족적인, 독립된  harmonious 조화로운  continuum 연속체  

10. [출제의도] 빈칸 추론하기 [정답③]

[해석] 수필가인 Nassim Taleb은 그가 지녀왔던 고질적인 과다 체중에 대해 무언가를 하기로 결심 하면서, 다양한 스포츠를 시작할 것을 고려했다. 

그러나 조깅을 하는 사람들은 비쩍 마르고 행복하 지 않아 보였고, 테니스를 하는 사람들은? 오, 너 무나 상위 중산층처럼 보였다! 그러나 수영을 하 는 사람들은 체격이 

좋고 날씬한 몸으로 그의 흥 미를 끌었다. 그는 그의 동네에 있는 수영장에 등 록하기로 결정했다. 얼마 후, 그는 자신이 착각에 사로잡혀 있었음을 깨달았다. 전문적인 

수영 선수 들은 그들이 엄청나게 훈련하여 완벽한 몸을 가진 것이 아니다. 오히려, 그들은 그들의 체격 때문에 좋은 수영 선수인 것이다. 마찬가지로, 여성 모델 들이 화

장품을 광고하는데, 그래서 많은 여성 소 비자들은 이러한 상품들이 자신들을 아름답게 만 들어준다고 믿는다. 그러나 이 여성들을 모델처럼 만들어주는 것은 화장품이 아

니다. 단지, 모델들 이 매력적으로 태어난 것이며, 오직 이러한 이유 로 그들이 화장품 광고를 위한 후보들인 것이다. 수영 선수의 몸과 같이, 아름다움은 선택을 위한 하

나의 요인이지 결과는 아니다. Taleb은 위의 경 우들과 같은 혼동을 ‘swimmer’s body illusion’이 라 부른다. [해설] 해석 참조 [어휘 및 어구] physique 체격, 

체형  candidate 후보

11. [출제의도] 빈칸 추론 [정답①] [해석] 우리가 우리의 생각을 언어로 ‘표현하고’ ‘나타낸다’고 말하는 것이 옳지만, 표현을 하 고 있는 것(언어)과 표현되고 있는 것(생

각) 사이에 구조적 유사성이 있다고 가정하는 것은 큰 실수일지 모른다. Robert Stalnaker는 자신의 책 ‘Inquiry’에서 ‘숫자들’의 표현으로 한 가지 비유를 보여 준

다. 숫자 9는 ‘12-3’으로 ‘표현될’ 수 있지만, 결과 적으로 12, 3, 또는 ‘빼기’가 숫자 9의 ‘구성 요소들’은 아니다. 우리는 생각과 그것의 언어적 표현을 치약과 튜브에서 

그것이 ‘나오는 것’과 비교할 수 있다. 치약을 짜낸 결과가 길고 가는 원통형의 물건이라는 것이 치약 그 자체가 길거나, 가늘거나, 아니 면 원통형이라는 것을 의미하지는 

않는다. 마찬가지로 생각은 특정 언어 구조를 지닌 진술로 소리 내어 표현될지 모른다. (하지만) 결과적으로 생각 그 자체가 그러한 구조 로 되어 있다는 것은 아니다. 예

를 들어 내가 과일 그릇을 보면서 그 그릇 안에 사과 와 오렌지가 들어 있다고 생각한다고 가정해 보라. 내 눈앞에 있는 물체들에는 과일 몇 조각과 그릇이 포함되지만, 
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‘~와’라는 단어에 상응하는 어떤 물체도 세계나 나의 시각 이미지에 존재하지 않는다. [풀이] 생각은 언어라는 표현 수단을 이용해 표현되지만, 둘 사이에 구조적 유사성

이 있는 것은 아니며, 마찬가지로 특정 언어 구조를 지닌 진술로 생각을 표현했다고 해서 생 각도 그 언어와 유사한 구조로 되어 있는 것은 아니라고 말하고 있다. 따라서 

① ‘생 각 그 자체가 그러한 구조로 되어 있다’가 빈칸에 들어갈 말로 가장 적절하다.  ② 생각을 언어적으로 분석하는 것은 가능할 것 같지 않다 ③ 마음속의 언어에는 

논리적 구조가 결여되어 있다 ④ 생각과 그것의 언어적 표현은 별개다 ⑤ 문장은 구조적으로 생각과 다르다 [Words and Phrases] express 표현하다, 짜내다  

represent 나타내다, 표현하다  similarity 유사성  analogy 비유  It follows that ~ 결과적으로 ~이 되다  constituent 구성 요소  verbal 언어적인, 

언어의  cylinder 원통형의 물건, 원통  out loud 소리 내어  statement 진술, 언급  correspond to ~에 상응하다 

12. [출제의도]빈칸 내용 추론하기 [정답③][해석]제약은 본래 갖추어져 있고 눈에 보이지 않 게 되어 있기 때문에, 우리는 얼마나 많은 창의적 과 업이 제약에서 도움을 

받는지 알아차리지 못하는 경 향이 있다. 예를 들어, 거의 대부분의 대중음악은 첫 박자가 대개 강조되는, 한 마디에 네 개의 박자가 있 는 4/4 박자이다. 곡은 보통 길

이가 3분이나 4분이 고, 후렴구를 포함하고, 기타 등등이다. 이것들은 대 중음악이 따르는 많은 것 중에서 단지 몇 가지 제약 일 뿐이지만, 달성될 수 있는 변화를 보라. 

많은 노 래가 이러한 규칙들을 어기지만, 그것들은 애초에 어 길 수 있는 규칙이 있기 때문에 그것들의 효과를 흔 히 달성하는 것이다. 화가, 작가, 예술가 등은 모두 다

양한 정도로 이전 양식에 영향을 받으며, 제약을 제공하는 것이 바로 이러한 이전 양식이다. 우리가 우리 자신에게 부과하는 바로 그 제약은 우리의 가 장 훌륭한 창작물

의 씨앗이 될 수 있다. [어구]constraint 제약  impose 부과하다 [해설]많은 창의적 과업이 제약에서 도움을 받는다 는 내용을 통해 빈칸의 내용을 추론할 수 있다. 

13. [출제의도]빈칸 내용 추론하기 [정답④][해석]우리는 습관이 의도를 뒤따른다고 생각하기 를 좋아하지만, 의도와 습관이 완전히 뒤바뀌는 것도 

가능하다. 습관이 애초에 어떻게 시작되었는지는 완 전한 우연일 수 있으나, 우리는 그러고 나서 그 행동 에 대한 확실한 이유가 없는 한, 우리의 행동으로부 터 의도를 

알아낼 수 있다. 예를 들어서 내가 매일 오후 공원 주변을 걷고, 매번 오리 연못을 지나가는 특정한 길을 따른다고 하자. 내가 왜 이 길을 택했는 지에 대한 질문을 받을 

때, 나는 사람들이 오리에게 먹이를 주고 있는 것을 보는 것이 좋다고 대답할지 도 모른다. 실제로, 나는 처음에 완전히 임의로 그저 그 길을 걸었고, 다음 날 똑같이 하

지 않아야 할 이 유를 생각해 내지 못했다. 이제 습관이 형성된 후, 내가 한 가지 이유를 생각해 보려고 하니 오리가 갑 자기 마음에 떠오른 것이다. 나는 결국 본질적으
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로 그저 우연이었던 것으로부터 의도를 추론한 것이다. [어구]at random 임의로  establish 형성하다 [해설]확실한 이유 없이 우연히 시작된 행동이 습관 이 되고 

나면 오히려 그 습관으로부터 의도를 추론한 다는 내용을 통해 빈칸의 내용을 추론할 수 있다. 

14. [출제의도] 빈칸에 들어갈 말 추론하기 [정답⑤][해석] 고객의 욕구는 대체로 제품이나 서비스의 전반적인 품질에 대한 상위 수준의 묘사로 표현된 다. 그것들은 보통 

형용사로 진술되는데 본질적으 로 고객에게 돌아가는 구체적인 혜택을 의미하지 않는다. 예를 들어, 고객들은 흔히 제품이나 서비 스가 ‘믿을 수 있는’, ‘효과적인’, ‘튼튼

한’, ‘신뢰할 만한’ 혹은 ‘복원력이 있는’ 것이기를 원한다고 말 한다. 면도기 사용자들은 제품이 ‘내구성이 있고 튼튼한’ 것이기를 원할 것이다. 이 단순한 말들이 고객이 무

엇을 찾고 있는지를 나타낼지라도 여기 에는 한 가지 중대한 결점이 있다. 그 말들은 (다 양한) 해석의 여지가 있는 부정확한 진술이며 디 자이너, 개발자, 기술자들에게 

고객들이 ‘내구성이 있는’ 또는 ‘튼튼한’ 이라는 말을 통해 정말로 무 엇을 의미하는 것인지 알아내라는 불가능한 과제 를 제시한다. 만약 기술자들이 면도기를 좀 더 ‘내 

구성이 있는’ 것으로 만들어야 하는 과제에 직면 한다면, 과연 그들은 면도날이 더 오래 지속되도 록, 휘어짐에 견디도록, 혹은 지속적인 습기에 견 딜 수 있도록 만들려

고 할 것인가? 이러한 조치들 중 어느 하나라도 “내구성이 있는”이라는 말에 대 한 고객들의 진정한 기준을 만족시키겠는가? 

[어휘] robust 튼튼한 resilient 복원력이 있는

15. [출제의도] 빈칸에 들어갈 말 추론하기 [정답⑤][해석] 미국식 영어로 칭찬하는 행동에 관한 연구 에서 연구자들은 미국식 영어로 하는 칭찬의 가장 두드러진 특징 중 

하나는 독창성의 거의 완전한 부족이라는 것을 발견했다. 방대한 언어자료의 초 기 연구에서 칭찬의 대상과 그것들을 묘사하기 위 해 사용된 어휘 항목 둘 다에 있어서 놀

라운 반복 성이 드러났다. 좀 더 심도 있는 조사에서 규칙성 이 모든 수준에서 존재하고 칭찬은 사실상 공식이 라는 것이 발견되었다. 칭찬들이 그것들의 긍정적 인 의미

론적 가치를 위해 형용사에 의존한다는 점 에서 우리는 자료에 있는 모든 칭찬의 80퍼센트 를 형용사적인 것으로 분류할 수 있을 것이다. 종 합하자면, 72개의 긍정적인 

형용사가 자료에 나타 난다. 그러나 놀라운 것은 이러한 72개의 형용사 들 중에서 단지 5개(멋진, 좋은, 아름다운, 예쁜, 그리고 훌륭한)의 형용사만 빈번하게 사용된다는 

사실이다. 대부분의 형용사가 자료에서 단지 한 두 번만 나타나는 반면에 이러한 5개의 형용사는 너무 빈번하게 나타나서 언어자료에 있는 모든 형 용사적인 칭찬 중에서 

3분의 2가 단지 5개의 형 용사만을 활용하고 있다. [어휘] lexical 어휘의 semantic 의미론의
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16. [출제의도] 빈칸 추론 [정답⑤][해석] 우연히 발생할 수 있는 것보다는 훨씬 더 체계적이지만 직접적인 인과관계의 증거로 서 다루기에는 불합리한 상관관계의 예를 

찾기는 쉽다. 예를 들면, 신발 크기와 어휘 크기 사이에는 상당한 정도의 상관관계가 있는데, 크기가 더 큰 신발을 신는 사람들 이 더 작은 신발을 신는 사람들보다 훨씬 

더 많은 어휘를 가지는 경향이 있다. 하지 만 발의 크기가 더 크다고 해서 누군가 더 많은 어휘를 얻는 것은 아니며, 많은 어휘 를 가지고 있다고 해서 발이 자라는 것도 

아니다. 그 상관관계에 관한 분명한 설명은 아이들이 어른들보다 발이 훨씬 더 작은 경향이 있다는 것이고, 아이들은 나이가 들 어가면서 서서히 어휘를 습득하기 때문에 

평균적으로 발이 더 작은 사람들이 더 적은 어휘를 가진다는 것은 거의 놀랄만한 일이 아니다. 다시 말해서, 발 크기와 어휘 크 기는 유아기에서 성인기로 가는 인간 발달 

과정의 특징의 관점에서 설명될 수 있는 데, (그것은) 관찰된 두 현상이 공통으로 가지는 원인이다.  [풀이] 발 크기와 어휘 크기가 서로 인과관계에 있는 것이 아니라 두 

현상 모두 아이가 성인 이 되면서 커지는 것들이므로 그 현상들의 원인은 인간의 성장의 관점에서 설명되어 야 한다는 것이 글의 요지이므로, ⑤ ‘인간 발달 과정의 특징’

이 빈칸에 들어갈 말로 가장 적절하다. ① 언어 습득의 부산물 ② 흔하지 않은 사건들 사이의 인과관계 

③ 신체적 성장과 정신적 성장 사이의 차이 ④ 사회적 상호작용에서 비롯된 문화적 신념 [Words and Phrases] correlation 상관관계  occur 발생하다  by 

chance 우연히  absurd 불합리한  causal 인과관계의  gain 얻다  obvious 분명한  acquire 습득하다  gradually 서 서히  hardly 거의 ~않는  in 

terms of ~의 관점에서  infancy 유아기 

17. [출제의도] 빈칸 추론 [정답②][해석] 두 문화가 접촉할 때, 그 두 문화가 모든 문화 항목을 교환하는 것은 아니다. 만약 그렇다면, 오늘날 세계에는 전혀 문화적 차

이가 없을 것이다. 신에 단지 적은 수의 문화적 요소들만 늘 한 문화에서 다른 문화로 퍼진다. 어떤 문화 항목이 받아들여지

는가는 그 항목의 용도 및 이미 존재하는 문화적 특성과의 양립 가능성에 체로 달 려있다. 예를 들어, ‘흰머리를 피하려고’ 고안된 남성용 머리 염색약은 나이가 들어감 에 

따라 사람의 지위가 올라가는 아프리카의 시골 지역으로 퍼질 것 같지는 않다. 어 떤 혁신적인 것이 어떤 사회의 필요와 일치할 때조차도, 여전히 그것이 받아들여질 것이

라는 보장은 없다. 예를 들어, 미국의 관습적 단위(예컨, 인치, 피트, 야드, 마 일 등)를 사용하는 미국의 부분의 사람들은, 그러한 변화를 이루는 것이 미국인들로 하여금 

세계의 다른 나라들과 더 효율적으로 접촉할 수 있게 할 터임에도 불구하고, 미터법 채택에 저항해 왔다. [풀이] 예시를 통해 빈칸을 완성해야 하는데, 문맥상 예시에서 



달달한코스 유형별 독해                                                                                                                              With Candy       

- 41 -

빈칸의 내용에 해당하는 것이 making such a change, 즉 자신들의 관습적 단위를 버리고 미터법을 채택하는 것 이므로 빈칸에 가장 적절한 것은 ② ‘혁신적인 것’

이다. ① 범주화 ③ 조사 ④ 관찰 ⑤ 설명서  [Words and Phrases] come into contact 접촉하다  trait 특성  dye 염색약; 염색하다  elevate 올리다, 높

이다  with advancing years 나이가 들어감에 따라  consistent 일치하는, 일관 된  guarantee 보장, 확약, 보증서  resist 저항하다  interface with 

~와 접촉[접속] 하다  efficiently 효율적으로

18. [출제의도] 빈칸 추론 [정답③][해석] 좋음과 나쁨 사이의 몇 가지 구별은 우리의 생명 활동 안에 타고난다. 유아는 고통은 나쁘다고 반응하고 (어느 정도까지는) 달

콤함은 좋다고 반응할 준비가 된 채로 세상에 나온다. 하지만 많은 경우에서 좋음과 나쁨의 경계는 시간이 지나면서 변하는 기준점 이며 당면한 상황에 의해 결정된다. 추

운 밤에 폭우에 부적절한 옷을 입고 옷이 흠뻑 젖은 채로 시골에서 바깥에 있다고 상상해 보라. 찌르는 듯한 차가운 바람으로 고통 이 극에 달한다. 주변을 서성이다가 격

렬한 악천후로부터 어떤 피난처를 제공하는 커 다란 바위를 발견한다. 생물학자인 Michel Cabanac은 그 순간의 경험을 단히 즐 겁다고 보곤 했는데, 즐거움이 보통 

그렇듯이 그것이 생물학적으로 상황에 한 상당 한 개선의 방향을 보여주는 기능을 하기 때문이다. 물론 그 즐거운 안도는 아주 오래 지속되지는 않을 것이고, 여러분은 곧 

바위 뒤에서 다시 몸을 떨고 있게 될 것이며, 새로워진 고통에 의해 결국 더 좋은 피난처를 찾게 될 것이다. [풀이] 추운 밤 폭우에 옷이 흠뻑 젖은 채로 시골에서 바깥에 

있으며, 차가운 바람으로 극도 의 고통을 느끼다가, 격렬한 악천후로부터 어떤 피난처를 제공하는 커다란 바위를 발 견하면, 생물학자인 Michel Cabanac은 그 순간의 

경험을 단히 즐겁다고 보았다. 따라서 빈칸에는 그 경험을 즐겁다고 보게 되는 이유가 와야 적절한데 피난처를 제공하는 바위를 보게 되는 그 경험은 한 생물로서 고통을 

당하는 그 사람에게 약간의 개 선이 되므로, 빈칸에 들어갈 말로 가장 적절한 것은 ③ ‘생물학적으로 상황에 한 상당한 개선’이다. ①　상황적 요구에 한 영구적 정서 적응 

② 신체적 고통을 통한 자의식 강화 ④ 바람직한 상황과 바람직하지 못한 상황의 공정한 판단 ⑤ 정서 안정을 위해 정신적으로 예정된 성향 [Words and Phrases] 

distinction 구별  hardwired 타고난, 굳어진, 고정된  biology 생명 활동[작용], 생 물학  boundary 경계, 분계선  reference point (계측·평가의) 기준

점  immediate 당면한, 즉각적인  inadequately 부적절하게  soak 흠뻑 적시다 stinging 찌르는 듯 한  elements 악천후  misery 고통, 빈곤  shelter 

피난처, 안식처  fury (전쟁·폭풍 우 등의) 격렬, 맹위  intensely 단히, 강렬하게  indicate 보여주다, 가리키다  direction 방향, 지도  relief 안도, 안심  

renewed 새로워진  suffering 고통  adjustment 적응, 조정  enhance 강화하다  impartially 공정하게  
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19. [출제의도] 빈칸 추론 [정답①][해석] 종자 개량을 위한 연구 개발은 오랫동안 공익을 위한 공공 영역이자 정부의 활동이었 다. 그러나 개인 자본이 종자 생산으로 흘

러들어오기 시작했고 경제의 한 부문으로서 그것(종자 생산)을 인수하여, 종자의 특성의 두 가지 측면, 즉 생산의 수단으로서의 종자의 역할과 생산물로서의 종자의 역할, 

사이를 인위적으로 나누게 되었다. 이 과정 은 1920년 말에 옥수수의 잡종 번식 발명 이후 속도를 얻었다. 오늘날 재배되는 부분의 옥수수는 잡종이다. 그것들을 파는 회

사들은 농부들로부터 뚜렷한 부모 계통 을 유지할 수 있으며, 그들이 생산하는 곡물은 종자용으로 보관했다가 다시 심기에는 적절하지 못하다. 그 결합은 농부들이 계절마

다 그 회사로부터 더 많은 종자를 사야 하도록 보장해준다. 1990년에 유일한 지적 재산권 도구인 특허법이 종자 변종의 영 역까지 확장되면서 개인 종자 회사를 위한 시

장은 더 커지기 시작했다. [풀이] 농부들이 종자 회사가 판매하는 종자로 농사를 짓게 되면, 수확한 곡물을 씨앗으로 사용할 수 없으므로 또다시 회사로부터 종자를 구매

해야 한다. 그러므로 빈칸에 들어 갈 말로 가장 적절한 것은 ① ‘계절마다 그 회사로부터 더 많은 종자를 사야 하도록’ 이다. ② 이전보다 더 많은 화학 비료를 사용하도록 

③ 자신들의 식품 생산품을 위한 시장을 개척하도록 ④ 식품 생산의 효율성을 높이도록 ⑤ 시골 공동체 유지를 위한 방법을 찾아보도록

[Words and Phrases] seed 종자, 씨앗  domain 영역  common good 공익  capital 자본  take over ~ 을 인수하다  sector 부문, 영역  split 나

눔, 분열, 분할  hybrid 잡종  breeding 번식  cultivate 재배하다, 경작하다  distinct 뚜렷한  grain 곡물, 알갱이  suited 적절한  combination 결합, 

배합, 조합  guarantee 보장하다  extension 확장, 연 장  patent 특허  variety 변종  pioneer 개척하다  rural 시골의

20. [출제의도] 빈칸 추론 [정답④] [해석] Walt Whitman이 ‘Leaves of Grass’를 쓰기 오래전에, 시인들은 명성에 주의를 기 울였다. Horace, Petrarch, 

Shakespeare, Milton, 그리고 Keats는 모두 시의 위 함이 자신들에게 일종의 세속적 불멸을 부여해주기를 바랐다. Whitman도 수 세기 동안 세상이 자신의 시

를 가치 있게 여길 것이라는 비슷한 믿음을 갖고 있었다. 그러 나 지면 위에서 영원히 살아남고자 하는 이 고의 열망에다 그는 명성에 한 새로 운 의미를 추가했다. 독자

들이 단순히 시인의 작품에만 주목하는 것이 아니라, 그들은 그의 인격적인 위함에도 이끌릴 것이었다. 그들은 그의 시에서 고동치는 문화적 공 연, 즉 엄청난 카리스마와 

호소력을 갖고 한 개인이 책에서 솟구쳐 나오는 것을 보게 될 것이었다. Jackson주의 미국을 특징지었던 정치 집회와 선거 행진에서 Whitman 은 군중과 관련하여 
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시적 명성을 정의했다. 다른 시인들은 시의 여신으로부터 자신들 의 영감을 찾았을지도 모른다. Whitman(이 생각하는) 시인(상)은 자신의 동시인으 로부터의 인정을 추

구했다. 미국 민주주의의 불안정 속에 명성은 인기도, 즉 사람들이 그 시인과 그의 작품을 기뻐하는 정도에 의해 좌우될 것이었다. [풀이] Whitman은 시인의 명성은 단

순히 훌륭한 시에 의해서가 아니라 중들이 시인과 시 인의 시를 함께 기뻐하는 정도, 즉 중에 의한 인기도에 의해 좌우된다고 생각했으 므로 빈칸에 들어갈 말로 가장 적

절한 것은 ④ ‘자신의 동시인으로부터의 인정’이 다. ①　중의 관심으로부터의 도피 ② 정치적 혼돈으로부터의 시적 순수성 ③ 문학 그 자체 속에서의 불멸성 ⑤ 정치적 유

명인사와의 명성 [Words and Phrases] address oneself to ∼에 주의를 기울이다  grant 부여하다, 주다  earthly 세속적 인, 현세의  attend to ~에 

주의하다  vibrant 고동치는, 활력이 넘치는  spring 솟 구치다, 튀어 오르다  tremendous 엄청난  appeal 호소력, 매력  rally 집회, 모임  electoral 선거

의  mark 특징짓다  inspiration 영감  instability 불안정  celebrity 인기도, 명성  rejoice 기뻐하다

21. [출제의도] 빈칸 추론 [정답①] 자동차의 브레이크를 사용하는 자신의 방식을 어떻 게 터득했는지 생각해 보라. 커브 길을 도는 기술을 숙달하게 되면서 여러분은 언

제 가속 페달에서 발을 떼야 할지, 그리고 브레이크를 언제 그리고 얼마나 세 게 사용해야 할지를 점차 배우게 되었다. 커브 길은 다양한데, 배우는 동안 경험한 가변성은 

접하게 되는 그 어떤 커브 길에서도 이제는 적시에 적절한 힘으로 브레이크를 밟을 준비가 될 수 있게 해 준다. 이런 기 술을 배울 수 있는 상황이 이상적인 이유는, 굽

은 길 을 돌 때마다 즉각적이고 분명한 피드백, 즉 편안하게 도는 적당한 보상 혹은 브레이크를 너무 세거나 충분 한 세기로 밟지 않을 경우 차를 조종하는 데 있어서 약

간 어려움을 겪는 적당한 벌을 받기 때문이다. 커다 란 선박을 조종하는 도선사가 직면하는 상황도 이에 못지않게 통상적이지만, 행동과 그 행동에 따르는 분 명한 결과 

사이의 오랜 지연 때문에 순전히 경험만으 로 기술을 습득하기는 훨씬 더 어렵다. 전문가가 직관 적인 전문 기술을 터득할 기회를 가지느냐 그렇지 않 느냐는 본질적으로 

연습할 충분한 기회뿐만 아니라 피 드백의 질과 신속성에 달려 있다. let go of ~을 놓아 주다 variability 가변성 immediate 즉각적인 unambiguous 분명한 

bend 굽은 길[곳] harbor pilot 도선사 maneuver 조종하다 sheer 순전한 intuitive 직관적인 expertise 전문 기술 sufficient 충분한 

22. [출제의도] 빈칸 내용 추론하기 [정답①]

[해석] 지식을 얻으려면 지식이 필요하다는 말은 연구자들이 야구 경기 반 이닝을 자세히 묘사하여 그것을 열성적인 야구 팬 한 집단과 덜 열성적인 야구 팬 한 집단에게 
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읽도록 주었던 한 연구에서 드러났다. 이후에 그들은 피실험자들이 그 반 이닝을 얼마나 잘 기억해 낼 수 있었는지를 시험했다. 열성적인 야구 팬들은 주자가 진루하고 주

루 플레이가 득점으로 이어지는 것과 같은 경기와 관련된 중요한 사건을 중심으로 그들의 기억을 구조화하였다. 어떤 이는 거의 그들이 마음속의 세부 경기 기록지를 읽어

내는 것 같은 인상을 받았다. 덜 열성적인 팬들은 경기에 대한 중요한 정보를 보다 적게 기억했고 날씨와 같은 피상적인 사항을 보다 자세히 이야기하는 경향을 보였다. 

그들은 경기에 대한 상세한 내적 개념 작용이 부족했기 때문에 그들이 받아들이는 정보를 처리할 수 없었다. 그들은 무엇이 중요하고 무엇이 사소한지 몰랐다. 그들은 무

엇이 중요한지 알 수 없었다. 그들이 학습하고 있는 것을 내면화하는 개념적 구성 체계 없이는 그들은 매우 잘 잊어버렸다.

[어구] scorecard 세부 경기 기록지 superficial 피상적인

[해설] 야구 지식이 많은 열성팬들이 덜 열성적인 팬들보다 야구 경기 내용을 더 구조화하여 기억했다는 내용을 통해 빈칸 내용을 추론할 수 있다.

23. [출제의도] 빈칸에 들어갈 말 추론하기 [정답②] [해석] 축구의 페널티킥 상황에서 공은 공을 찬 선수로부터 골대로 이동하는 데 0.3초도 걸리지 않는다. 골키퍼에게

는 공의 경로를 관찰하는데 충 분한 시간이 없다. 상대가 공을 차기 전에 골키퍼 는 결정을 해야 한다. 페널티킥을 차는 축구 선수 들은 각각 3분의 1의 경우로 골대의 

중간, 골대의 왼쪽, 골대의 오른쪽으로 공을 찬다. 물론 골키퍼 들은 이를 알고 있지만 그들은 무엇을 하는가? 그 들은 왼쪽이나 오른쪽으로 몸을 던진다. 비록 대 략 모

든 공의 3분의 1이 중앙으로 떨어짐에도 불 구하고 그들은 좀처럼 중앙에 서 있지 않는다. 왜 그들은 이런 공을 막으려고 하지 않을까? 그 간단 한 대답은 모양새이다. 

그 위치에서 가만히 공이 지나가는 것을 보고 있는 것보다 잘못된 방향으로 몸을 던지는 것이 좀 더 인상적으로 보이고 덜 민 망하게 느껴진다. [해설] 해석 참조 [어휘] 

trajectory 궤도, 경로 

24. [출제의도] 빈칸에 들어갈 말 추론하기 [정답②] [해석] 축구의 페널티킥 상황에서 공은 공을 찬 선수로부터 골대로 이동하는 데 0.3초도 걸리지 않는다. 골키퍼에게

는 공의 경로를 관찰하는데 충 분한 시간이 없다. 상대가 공을 차기 전에 골키퍼 는 결정을 해야 한다. 페널티킥을 차는 축구 선수 들은 각각 3분의 1의 경우로 골대의 

중간, 골대의 왼쪽, 골대의 오른쪽으로 공을 찬다. 물론 골키퍼 들은 이를 알고 있지만 그들은 무엇을 하는가? 그 들은 왼쪽이나 오른쪽으로 몸을 던진다. 비록 대 략 모

든 공의 3분의 1이 중앙으로 떨어짐에도 불 구하고 그들은 좀처럼 중앙에 서 있지 않는다. 왜 그들은 이런 공을 막으려고 하지 않을까? 그 간단 한 대답은 모양새이다. 
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그 위치에서 가만히 공이 지나가는 것을 보고 있는 것보다 잘못된 방향으로 몸을 던지는 것이 좀 더 인상적으로 보이고 덜 민 망하게 느껴진다. [해설] 해석 참조 [어휘] 

trajectory 궤도, 경로 

25. [출제의도] 빈칸 추론 [정답③] [해석] 1900년대 중반에, John Kenneth Galbraith는 소비자는 시장에 참여하고 있을 뿐만 아니라, 사회 전반에 걸친 권력의 

체계적 배치의 ‘산물’이라고 주장하여 경제학 분야를 깜짝 놀라게 했다. 이러한 권력의 배치 내에서, 상업 매체는 반드시 소비자가 경제의 일반 요건에 부응하는 가치와 신

념을 채택하게 한다. 대중 행동 패턴에 개인이 참여하 는 것은 임의의 힘에 대한 자발적인 반응이 아니다. 신념 체계로 작동하는 경제 체계 내에 살고 있기 때문에 소비자

들은 공동의 소비 패턴에 참여한다. 그것(신념 체계로 작동하는 경제 체계)은 일의 의미와 가치에 상당한 통제력을 행사한다. 경제가 신념 체계로 기능할 때, 그것은 소비

자의 자유로운 선택에 엄격한 제한을 둔다. 소비자로서, 우리의 선택은 전적으로 우리 자신의 것이 아니다. 우리의 신념, 가치, 생각, 그리고 감정은 시장의 요구에 맞추도

록 크게 조절된다. 

[풀이] 사회 전반에 걸쳐 체계적으로 배치된 권력(신념 체계)의 일부가 경제이고, 그 경제의 산물이 소비자이므로, 소비자의 소비 행동은 시장에서의 자유로운 선택 행동

이 아니라 경제라는 신념 체계에 의해 통제를 받는 행동일 수밖에 없다. 문맥상 ‘The individual’s participation in mass behavior patterns’는 소비자의 

소비 행동을 가 리키므로 ③ ‘임의의 힘(이 글에서는 경제를 의미)에 대한 자발적인 반응이 아닌’이 빈 칸에 들어갈 말로 가장 적절하다. ① 상업 매체의 의제에 의해 이

끌리지 않는 ② 본능적인 개인 선택의 산물 ④ 시장의 요구로 영향을 받지 않는 ⑤ 경제 체계와 무관한 결과 [Words and Phrases] ensure 반드시 ~하게 하다 

adopt 채택하다 match 부응하다, 맞추다 mass 대중의  engage in ~에 참여하다  operate 작동하다  severe 엄격한  condition 조절하다 

26. [출제의도] 빈칸에 적절한 표현을 추론한다. [정답⑤] 새롭고 신기한 소비재를 소비하는 것에 대한 주관적 행복은 적어도 어느 정도는 일시적이다. 즐거움은 익 숙한 

소비 흐름에 의존하는 불변의 요소를 갖고 있지 만, 변화에 의존하는 요소를 가지기도 한다. 변화가 일 어나서 그 새로운 소비 품목이 일상의 소비재 묶음의 일부가 되면 

참신함에 대한 즐거움은 사라지고 전반적 인 만족감은 원래의 수준으로 되돌아간다. 아침 식사 에서 새로운 종류의 시리얼이 일시적으로는 우리의 즐 거움을 더하겠지만, 

결국 아침 식사에 대한 우리의 즐 거움은 평상시의 수준으로 되돌아갈 것이다. 또한, 우 리의 소득과 물질적인 수준이 상승하면서 우리의 기대 치 또한 상승한다. 증가하
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는 소득에 의해 가능해진 두 번째 자동차의 구매는 우리의 주관적 행복을 증가시키 지만, 그와 동시에 우리의 열망이 상승하고 두 번째 차는 우리의 기대 소비의 일부가 

된다. 우리의 기대와 실현 사이의 간격 축소가 우리의 주관적 행복을 평상 시의 수준으로 되돌린다.

27. [출제 의도] 빈칸 추론 [정답①] [해석] 나의 친구는 과학적인 발전이 전쟁과 기아를 없앰으로써 세상의 불행을 치유하지 못했 다는 것과, 엄청난 인간 불평등이 아

직도 널리 퍼져 있으며, 행복이 보편적이지 않다 는 것에 실망했다. 내 친구는 흔한 실수, 즉 지식의 본질에 있어서 기본적인 오해를 했다. 지식은 도덕과 관계가 없으며 

비도덕적인 것이 아니라 도덕 중립적이다. 그것은 어떤 목적으로든 사용될 수 있지만, 많은 사람은 그것이 사회를 위해 ‘그들이’ 선호하 는 희망을 증진하는 데 사용될 것

이라고 가정하는데, 이것이 근본적으로 잘못된 것이 다. 세상의 지식과 그 사용은 별개의 문제이다. 이해에 있어서의 진보가 세계의 사회 적인 불행을 치유하지 못해왔다

는 것에 실망하는 것은 타당한 견해이지만, 이것을 지 식의 진보와 혼동하는 것은 터무니없다. 아프리카나 중동의 갈등 때문에 지식이 진보 하지 않는다고 주장하는 것은 

요점에서 벗어난다. 지식에는 구체적인 사회적 또는 도 덕적 적용을 좌우하는 내재적인 것은 없다. 

[풀이]

과학적 발전이나 지식의 발전이 세계의 사회적인 불행을 치유해 주는 것이 아니며 이 둘은 서로 별개의 문제라는 내용의 글이다. 그러므로 빈칸에 들어갈 말로 가장 적절

한 것은 ①이다. ② 지식의 특성을 아는 것은 그것의 도덕적 가치를 실행하는 것이다 ③ 사회적 불평등을 제거하는 것은 지식의 내재적 목적이다 ④ 지식을 축적하는 것은 

그것의 사회적 적용을 향상시키는 것이다 ⑤ 과학을 발전하게 하는 것은 그것이 사회적 불행을 치유하게 하는 것이다 [Words and Phrases] amoral 도덕과 관계

없는, 도덕관념이 없는  assume 가정하다  further 증진하다  flaw 결함  remedy 치유하다, 치료하다  legitimate 타당한, 정당한  inherent 내재 적인, 타

고난  dictate 좌우하다, 지시하다

28. [출제 의도] 빈칸 추론 [해석] 한 유명한 프랑스 학자에 따르면, 인구의 규모와 복잡성의 증가가 과학 발전의 추진력 이었다고 한다. 초기에 소규모 공동체들은 모든 
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물리적, 정신적 노력을 생존에 집중해 야만 했다. 그들의 생각은 음식과 종교에 집중되었다. 공동체가 더 커짐에 따라, 어떤 사람들은 숙고하고 토론할 시간을 가졌다. 격

정과 편견을 줄이고 이것들을 관찰과 추 론으로 바꾸면 사건을 더 잘 이해하고 예측할 수 있다는 것을 그들은 알아냈다. 그러 나 많은 인구가 필요했을 수도 있었지만, 그

것 자체만으로 과학이 싹트는 데는 충분하 지 않았다. 일부 제국들은 컸지만, 제국을 하나로 뭉치게 하는 데 필요한 엄격한 사회 적 통제는 그것이 이성에 이롭지 못했던 

것처럼 과학에도 이롭지 못했다. 초기에 과학 을 육성하고 나중에 꽃피우는 데는, 독창적인 생각과 자유분방한 동기를 지지하는 크 고, 느슨하게 조직되며, 경쟁에 기반한 

공동체가 필요했다. 상업의 융성과 권위주의적 인 종교의 쇠락이 17세기 유럽에서 과학이 이성을 따르는 것을 가능하게 했다. [풀이] 과학이 싹트고 자라나서 꽃을 피우는 

데에는 많은 인구만으로는 충분하지 않았으며 독 창적인 생각과 자유분방한 동기를 가능하게 해주는 여건이 필요했다고 말하고 있다. 상업의 융성과 권위주의적인 종교의 

쇠락이 그것을 가능하게 해주었다고 했으므로 빈 칸에 들어갈 말로 ⑤가 가장 적절하다. ① 작은 공동체들이 가혹한 사회적 규범을 도입하도록 유도했다 ② 추론보다는 격

정과 열정으로부터 나온 것이었다 ③ 엄격한 위계 구조를 지닌 커다란 공동체에서 발생했다 ④ 오직 작은 공동체 내에서의 생존을 위한 노력에서 기인했다 [Words 

and Phrases] renowned 유명한  inference 추론  freewheeling 자유분방한  authoritarian 권위주의적인

29. [소재] 상대방의 새로운 생각에 대한 수 태도 [정답]④ [해석] 새로운 생각을 거부하는 것은 정상적인 반응이다. 불행하게도 여러분은 그렇게 함 으로써 탐구하기 위

한 방법을 차단할 뿐만 아니라 상대방의 자아를 짓밟는다. 자신 의 생각이 거부당하는 것을 즐기는 사람은 아무도 없기 때문에 이 사람은 방어적으 로 반응하기가 쉽다. 

여러분은 일종의 ‘생각 묵살하기’식의 논의로 접어드는 위험을 무릅쓰는 것이다. 이런 일이 일어나는 것을 막기 위해 심호흡을 하고나서 긍정적인 면을 바라볼 필요가 있

다. 적대감을 느끼게 되는 어떤 생각을 누군가가 제의한다면 스스로 부정적인 것을 말하도록 허하기 전에 그것에 관해 말할 수 있는 세 가지 장점을 의도적으로 찾아봄으

로써 그것을 기초로 삼아라. 만약 여러분의 지지 견해 가 비판적인 견해보다 더 비중이 크다면 상대방은 여러분이 자신의 생각을 고려하 고 있다는 점에 안심하여 여러분

이 말하는 것을 더 잘 받아들이기 쉽다.

[해설] 빈칸 뒤에서 적대감을 느끼게 되는 생각을 누군가가 제안하더라도 그것에 대해 부 정적인 말을 하기 전에 먼저 세 가지 장점을 의도적으로 찾아보라고 했으므로 

④ ‘(일의) 긍정적인 면을 찾다’가 빈칸에 들어갈 말로 가장 적절하다. ① 일의 속도를 계속 변화시키다 ② 집단의 필요를 족시키다 ③ 약점을 발견하 다 ⑤ 장래 계획을 

세우다 [어휘] reject거부하다 normal정상적인 avenue 방법, 수단 squash (제안 등을) 물리치다, 거부하다 defensively방어적으로 argument 논의, 논쟁 
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hostile적대적인 deliberately 고의로, 의도적으로 negative부정적인 supporting 지지하는, 후원하는 outweigh 더 비중이 크다, 더 중요하다 receptive to 

~을 더 잘 받아들이는

30. [소재] 사업 지도자들이 직원들의 신뢰감을 얻는 방법 [정답] ②

[해석] 사업 지도자들이 신뢰감을 쌓는 과정을 시작하기에 적절한 환경은 직원들에게 더 눈에 잘 보일 수 있는 곳이 되어야 한다. 사무실 밖으로 나와 직원들과 함께 어울

리는 것은 매우 흔한 신뢰감 문제에 대한 간단한 해결책이다. 조직 개선 워크숍에서 우리는 종종 여러분 “ 과 여러분의 관리자 간의 의사소통과 신뢰감 향상에 가장 큰 

하나의 장애는 무엇입니까?” 라는 질문을 한다. 많은 경우에 첫 번째 응답은 “저는 그녀를 전혀 만나 보지 못합니다. 그녀는 항상 회의에 참석 중입니다.”이다. 어떤 사람

들은 심지어 상사들이 어떻게 생겼는 지를 르는 상황에서 직원들이 상사들에 대한 신뢰감 인식력을 좋아지게 할 수 없다. 지 도자들이 사무실에서 좀처럼 나오지 않고, 대

신에 이메일을 통해 의사소통하기를 선택한다 면 그들은 더 이상 그 조직의 일부가 되지 못한다.

[해설] 이 글은 사업 지도자들에게 의사소통과 신뢰감 향상의 장애가 되는 것으로 전혀 만나보지 못하는 것(I never see her.)을 첫 번째 응답 사례로 서술하고 있다 

이를 바꾸어 말한다 . 면 신뢰감을 쌓으려면 직원들에게 더 많이 눈에 보일 수 있어야 한다는 의미이므로 빈칸에 는 visible (눈에 보일 수 있는)이 가장 적절하다. ② 

유사한 솔직한 감사하는 주관적인① ② ④ ⑤ [어휘] employee 직원, 사원 organizational조직의 barrier to ~의 장벽, 장애(물), 방해 perception 인식

(력), 지각(력) higher-up 상사, 상관


